MachineTool Quotation_Factory / Company									JM Euro s.r.o. 2022-11-29
No.	ltem	Photo	Code, Spec.	Quotation (부가세미포함)	Qty (MOQ)	Unit	Amount	L/T	Remark
1	Welding Machine		EasyMIG 225 • MIG gun SPE 150 3m • electrode holder • work clamp • gas hose with bands Input ~1× 230V \pm 10% 50 / 60 Hz MIG welding current 50 - 220A MIG duty cycle 60% Output working voltage 16.5 - 25V Wire feeder built-in, 2-roll gear Wire feeding speed 2 - 12.5m/min Welding wire spool \leq 15kg / \emptyset 200/300mm Wire diameter 0.6, 0.8, 1.0mm	€ 548.06	1	SET	€ 548.06	0.5~1W	4대/12대 이상 발 주시 추가 단가인 하
2	Welding Machine AC/DC package + TIG torch		Input ~3× 400V ± 10% 50 / 60 Hz TIG welding current 10-320A TIG duty cycle 60% Gas pre flow 0.1 - 2s / Gas post flow 0 - 10s Up slope 0 - 10s /Down slope 0 - 10s TIG Pulse yes Pulse Amps 10 - 320A / Pulse Width 5 - 95% 2T/4T Control yes Arc ignition HF	€ 1,484.46	1	set	€ 1,484.46	1~1.5W	included : TIG torch X 8Meter • toolbox (consumable kit) • 3M electrode holder • 5m work clamp • Gas hose
3	Welding Machine		modern digitally controlled inverter welding machine Allows welding TIG AC/DC and MMA AC/DC modes Package TIG torch SPE17 1B 4m set of consumables gas hose, 3m work clamp	€ 509.15	2	SET	€ 1,018.31	2~4D	4대/12대 이상 발 주시 추가 단가인 하
4	Welding Machine		It is powered from a three-phase 400V network. The welding current is in the range of 20 – 250A. The power source provides a strong, focused, and stable arc. Easy-to-use function panel equipped with a digital display allows for precise adjustment of welding parameters. Package equiped: • Welding Machine • electrode holder • work clamp	€ 273.91	2	set	€ 547.83	1~1.5W	4대/12대 이상 발 주시 추가 단가인 하

	MachineTool Quotation_Factory / Company									
No.	ltem	Photo	Code, Spec.	Quotation (부가세미포함)	Qty (MOQ)	Unit	Amount	L/T	Remark	
5	Welding Machine		MIG gun SPE 150 - $2m \cdot$ Work clamp Input ~1× 230V ± 10% 50 / 60 Hz MIG welding current 40 - 100A MIG duty cycle 30% Output working voltage 16.6V Wire feeder wbudowany, 2 - rolkowy Welding wire spool \leq 1kg / Ø100mm Wire diameter 0.8mm	€ 118.69	4	set	€ 474.78	1~1.5W	대량구매시 단가인 하	
6	Self- shielding flux cored wire,		diameter 0.8 mm / 0.9 kg (D100) E71T- GS for welding without gas shield (FCAW) creates a cover that protects the weld against oxygen hermetically packed spool used in agriculture, construction and production	€ 6.54	10	PCS	€ 65.39	1~1.5W		
7	Tungsten electrode		(WTh20 red) 2.4 × 175 mm	€ 2.15	100	PCS	€ 214.50	1~1.5W	available: 1.0, 1.5, 1.6, 2.0, 4.0, 4.8, 6.4	
8	Mobile workshop cabinet with tools (250 pcs)		Workshop trolley with full drawer extension. It has an ergonomic push handle and edge protection. Large storage space at the top and compartments for small parts and tools make work easier. Central locking with 2 keys and brakes on two swivel castors. Marking of drawers thanks to the check boxes	€ 467.88	1	set	€ 467.88	0.5~1.5W	Special Price	

MachineTool Quotation_Factory / Company									JM Euro s.r.o. 2022-11-29
No.	ltem	Photo	Code, Spec.	Quotation (부가세미포함)	Qty (MOQ)	Unit	Amount	L/T	Remark
9	Tool Trolley		2 shelves + lockable cabinet, 850x480x1000 mm Trolley for mobile storage in demanding environments. The shelf trolley has a lockable cabinet, a drawer, side panels for tools and shelves with raised edges. Load capacity :250 kg Wheels :With a brake Type of wheels :4 swivel wheels	€ 304.80	2	pcs	€ 609.60	1.5~2W	discount ! different type JM can offer
10	Half door table on wheels		Workshop workbench 575 x 600 x 850 mm The workshop table is made of high-quality sheet steel with a thickness of 0.7-1.5 mm. •welded steel structure made of 30 × 30 mm steel profiles	€ 164.52	2	pcs	€ 329.03	1.5~2W	
11	mobile table		Mobile work table with drawers 100*50*96(H)cm, 70kg equipment : 5 drawers , 2 open shelves 100% extension of drawers on ball rails • drawer load capacity 40 kg • central locking of drawers with a cylinder lock • sides of the table equipped with perforation according to the EU standard • possibility of attaching a paper holder, basket, storage tray, hooks		2	pcs	€ 662.23	1~2W	
12	Trollye for Tool		5 drawers, 785*775*460mm Practical tool trolley with 5 lockable drawers, powder coated. Material :Steel plate Number of sockets :5 Load capacity :500 kg Extraction capacity :95 % Load capacity of the drawer :70 kg Wheels :With a brake	€ 706.80	2	pcs	€ 1,413.60	1~2W	

MachineTool Quotation_Factory / Company									JM Euro s.r.o. 2022-11-29
No.	Item	Photo	Code, Spec.	Quotation (부가세미포함)	Qty (MOQ)	Unit	Amount	L/T	Remark
13	Vacuum Cleaner		Dust filtration class "L" Universal vacuum cleaner for wet and dry work Input 1,000 W, Max. air flow 216 m 3 / h Air flow 3600 I / min, Vacuum 210 mbar Container volume 20 I, Sound pressure level (L pA) 72 dB (A), Cable length 5 m Dimensions (L x W x H) 375 x 385 x 505 mm, Weight (EPTA) 7.5 kg	€ 124.66	1	PCS	€ 124.66	checking	makita
14	Wet / dry vacuum cleaner		Improved continuous suction power thanks to innovative filter cleaning technology. Max. input 1,250 W Weight 9.0 kg Net container volume 21 l	€ 215.25	1	pcs	€ 215.25	3~5D	BOSCH
15	digimatic calipers		0~150mm	€ 103.75	2	pcs	€ 207.50	1~1.5W	Mitutoyo old price
16	digimatic calipers	1 pro-	0~300mm	€ 246.23	2	pcs	€ 492.46	2~3W	Mitutoyo old price
17	Big Digital Caliper		Digital Caliper, Range 0-1000mm, Accuracy +/-0.08mm	€ 608.85	1	pcs	€ 608.85	2~3W	old price
18	Big DIGIMATIC CALIPER (Mitutoyo)		(2000*0.01)	€ 2,313.36	1	pcs	€ 2,313.36	2~3W	Mitutoyo old price
19	Digital Micrometer	E and a state of the state of t	Range:0 - 25 mm Parallelism:1 μm Digital step:0,001 mm Maximum Permissible Error J MPE:±1 μm Measuring force:5 - 10 N	€ 182.28	1	pcs	€ 182.28	1~1.5W	Mitutoyo old price

MachineTool Quotation_Factory / Company										JM Euro s.r.o. 2022-11-29
No.	Item	Photo	Code, Spec.		Quotation └가세미포함)	Qty (MOQ)	Unit	Amount	L/T	Remark
20	Calibration 검교정			€	12.00	1	time			price depends on tool type
1 21	ALUMINU M LEVEL		Professional aluminum spirit level Length: 600 mm shape - X. Milled abutment edges. extremely rigid construction. Accuracy: 1mm / m	€	5.80	10	pcs	€ 58.00	0.5~1W	old price
22	Magnetic core Drill		Max. core drill diameter 35 mm Max. core drilling depth 30 mm Clamping firmly Speed 390 rpm Smooth speed change No Magnetic holding force 1500 kg / 15000 N Base dimensions 165 × 80 mm Power consumption 1100 W Electrical connection 230 V Dimensions (w × h × d) 210 × 360 × 210 mm	€	767.52	1	pcs	€ 767.52	1~2W	available another type of magnetic Drill
23	Pro bench drilling Machine (230 V)		Bench drill with belt drive and digital speed and drilling depth indicator on the drilling head. Powerful engine Separate emergency switch Safety electronics in 24 V DC design Guaranteed accuracy ≤ 0.02 mm, measured on quill	€	1,007.52	1	pcs	€ 1,007.52	1~2W	different spec. of bench drilling machine JM can offer!
	discount					1	time	-€ 690.65		3,000€~ : 5%
	Delivery Charge		To Slovakia/ Hungary/ Poland/ Czech 10€/BOX ~ 120€/PALLET	€	35.00	1	Ship	€ 35.00		1,000€~ : Free (부피)중량물 제외 (예: 보루, 헬멧 등등)

MachineTool Quotation_Factory / Company							NEW PRICE	JM Euro s.r.o.	
		NEW ITEM	2022-11-29						
No.	No. Item Photo Code, Spec. Quotation Qty Unit Amount								Remark
	Payment : In Advance								
	If the qty is	changed , probably th	e price will be changed						

Leading Time; counting after payment confirmation

https://www.jmeuro.com/machinetool